
Installation Guideline for the Honda CRF1100L Africa Twin Adv Sport 
Soft Luggage Pannier Racks

10 Nov 2020



Part Description Qty

1 Pannier Rack, Left Section 1

2 Pannier Rack, Right Section 1

3 Clamping Brackets (left, right) 2

4 Rear Support Brace 1

5 Footpegmounting brackets 2

6 Front support braces 2

7 Cap Screw, M8x20, Button Head, Stainless Steel 8

8 Cap Screw, M8x25, Button Head, Stainless Steel (optional) 2

9 Washer, M8, Stainless Steel 16

10 Nut, Nyloc, M8, StainlessSteel 8

11 Panel washer, M8, Stainless Steel (optional) 2

12 Spacer, M8 x 8mm thickness (20mm outsidediameter), Aluminium 2

13 Plastic inserts (pre-assembled to clamp brackets) 6

14 Cap Screw, M6x30, Button Head, Stainless Steel (pre-assembled to clamp bracket) 12

15 Washer, M6, Stainless Steel (pre-assembled to clamp bracket) 12

16 Aluminium Heat Shield 1

Parts List



1
2

3

4

5
5

66

16



12

87

10

11

Fastener Kit

9



Heat shield

ThePannierRacksare suppliedwith
a pre-assembled Aluminium Heat
Shieldfor the exhaustside pannier
frame.

This Heat Shield can be easily
removed for normal riding without
Pannier Bags, but it is highly
recommended to have the
heatshieldin placewhen usingwith
Pannier Bags to prevent heat
damageto the bags.

When removing the Heat Shield,
pleasetake note of the placement
and order of the bolts, spacersand
washers.



Pre-assembled parts 
Heat Shield



Pre-assembled parts 
Clamp Mechanism


